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Cs Cg C1 Cq Ce C3 (&)
Ideals for irreducible component#ﬂ)f Xpar

I = (W' +ut® — 40’ — 5ut + 7t 11u? — et — 12000 — 3uf + 5u® 4 6u” + 2u® — 2u° — 2ut +u 1)

* 1 irreducible components of dim¢ = 0, with total 17 representations.

1The image of knot diagram is generated by the software “Draw programme” developed by An-
drew Bartholomew(http://www.layer8.co.uk/maths/draw/index.htm#Running-draw), where we modi-
fied some parts for our purpose(https://github.com/CATsSTAILs/LinksPainter).

2 All coefficients of polynomials are rational numbers. But the coefficients are sometimes approximated
in decimal forms when there is not enough margin.
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L I = (u'™ 4+ u'® — 4u?® — 5u! + Tu!d + 11u'? — 4! — 12410 — 3u® +
5ud + 6u” + 2ub — 2u® — 2ut +u +1)

(i) Arc colorings
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a7 = u14 + 4U12 7u10 + 6U8 o 2,“6 4 U2

—ut 200 — 207 — B >

u + 3u'? — 400 4+ o8 4 208 — 2ut + 1)

az = ul?’ +3ult — 50 +4u” —2u° — P +u
ag = \u® —ud + u>
as = (u5 _ u3 + u>

(ii) Obstruction class = —1

(iii) Cusp Shapes
= — 4y 1200t +4u'3 — 44012 — 160! + 44410 + 2847 — 8uB — 200" — 24uS + 16u* +8u3 —10



(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing
C1,C4 u” +3u -+ 9u+3
€2,C3,C6 L T N VR |
cr
cs5, Co W+t w1
cs W 9ut 4 1




(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing
C1,C4 y 11y 5Ty — 9
C2,C3,Ce y17+19y16++y_1
cr
€5, Co Yy =9y iy -1
(&) y17_y16++9y_1




Solutions to I}

(vi) Complex Volumes and Cusp Shapes

V=1(vol + y=1CS)

Cusp shape

u = —0.774885 4 0.6159521

8.77101 + 2.399231

0.86600 — 3.271091

u = —0.774885 — 0.6159521

8.77101 — 2.399231

0.86600 + 3.271091

u= 0.758174 4+ 0.4222471

1.12328 — 1.830621

—0.40697 + 5.222671

u= 0.758174 — 0.4222471

1.12328 + 1.830621

—0.40697 — 5.222671

u = —0.231761 + 0.7823571

6.15100 — 3.918207

—0.40216 + 2.392561

u = —0.231761 — 0.7823571

6.15100 4 3.918201

—0.40216 — 2.392561

u= 1.172060 + 0.3098721

1.86779 + 0.508011

—5.57451 4 0.232461

u= 1.172060 — 0.3098721

1.86779 — 0.508011

—5.57451 — 0.232461

u = —1.151920 + 0.4121491

—4.14236 + 2.057781

—9.01930 — 0.378161

u = —1.151920 — 0.41214971

—4.14236 — 2.057781

—9.01930 + 0.378161

u = —0.756727

—1.00476

—10.8690

u = 1.156820 + 0.4814761

—3.64564 — 6.093061

—7.29297 + 6.874251

u= 1.156820 — 0.4814761

—3.64564 + 6.093061

—7.29297 — 6.874251

u = —1.162590 + 0.5375521

3.41234 4 8.836641

—3.62632 — 5.871201

u = —1.162590 — 0.5375521

3.41234 — 8.836641

—3.62632 4 5.871201

u= 0.112463 + 0.6797151

—0.69802 4 1.705421

—4.10923 — 4.020961

u= 0.112463 — 0.6797151

—0.69802 — 1.705421

—4.10923 4+ 4.020961




II. u-Polynomials

Crossings u-Polynomials at each crossing
c1,ca w3+ 9u+ 3
C2,C3,Ce u17_u16+...+u+1
Ccr
Cs, Cy T a4 u
cs w4+ U+ a1l




ITI1. Riley Polynomials

Crossings Riley Polynomials at each crossing
c1,ca Yy 11y e 5Ty -9
C2,C3,Ce y17+19y16++y—1
Ccr
Cs, Co YT =9y y -1
cs YTy oy — 1




